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Ql.
* The sum of all deviations about mean is
(a} 0 (b)1 (c) negative (d) all of these.
* The median of the values 6, 3,5, 1,11, 101s
{a)3 (b) S (c)5.5 (d)7.5
¢ Therangeofthedata 8,3,7,2,0,10is ______
(a)o (b) 2 (c)8 (d) 10
. is called Ogive.
(a) Histogram  (b) Bar chart (c) Pie chart (d) Cumulative frequency polygon
*  Which one of the following distributions is continuous?
(a) Binomial (b) Normal (c) Poisson (d) All of these
*  Which one of the following distributions has one parameter?
{a) Normal (b) Poisson (c) Z-distribution (d) Binomial
*  The normal distribution has parameter/s;
(a) one {b) two (c) three () four
*  The Binomial distribution has successes.
(aJone ' (b) two (c) three (d)1ton
* Poisson distribution is applied when p is small and no. of trials is ____
(a) small (b) large \ (c) finite (d) none
* IfX~B(20,0.2), U=
{a) 2 (b) 3 (c)a (d) 5
*  IfX~B(16, 0.2), var(X) =
(a) 2 (b) 2.56 () 25.6 (d) 256
* Inwhich distribution, the mode, mean and median are equal?
(a) Binomial (b) Geometric (c) Poisson (d) Normal
* IfX~*N{20,4) and X = 20, then Z =
(a)o (b) 0.5 (c)1 (d) 1.5
® . The probability function of a discrete random variable X Is defined as f(x) = '
(a) P(X s %) (b) P(X 2 x) (c) P(X =x) (d) P(X # x)
* Innormal distribution, P(z 2 2.17) = ‘
() 0.015 (b) 0.65 (¢) 0.485 (d) 0.985
* The numerical quantity describing a population is called
(a) estimator (b) statistic (c) sample (d) parameter
* The______ population moment about origin is popylation mean.
(a) first (b) second (c) third (d) fourth
* The t-testis applied when sample size Is small and o is
a) small (b) large (c) known (d) ynknown.
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Q.2- Write short answers of the following. 3x6=18
1.

Dilterentiate between polygon and Ogive.

1 A box contains 20 DVDs, 4 of which are defective. 1 two DVDs are
selected at random (without replacement) from the box, what is the
prabability that both are defective.

. Caleulate Q, and D of following data.

(Noofassisns [0 [ 2 [ 3| Ta |5 Te 1T L8|y
b (346 710 j6] 5 |53 ]11]
V. Compute g of 41,37, 31,39, 26, 36, 46, 48, 35.
V. The probability that a man will be alive in 25 years is 3/5, and the
probability of his wife will be alive in 25 years is 2/3. Find the probability
of that neither will be alive in 25 years.
VI.  Deline co-efficient of variance and its significance.
Section III (Essay Type)
Answer the following Questions 6x4 =24

Q # 3. Use the binomial distribution to find probability of

i. 2 failures in 6 trials when p = 0.6.
ii. 2 or fewer successes in 9 trails when g = 0.6.

Q # 4.Compute the least square regression equation of Y on X for the following data.

X] S5 6 8 10 12 13 15 16 17
Y[ 16 19 25 28 36 41 44 45 S0

#'5. An urn contains 10 white and 3 black balls. Another urn contains 3 white and
black balls. Two balls are transferred from first urn and placed in second urn
then one ball is taken at random from the later. What is the probability that it
is a white ball?

Q # 6. The following table shows the distribution ot the maximum loads in short
tons supported by certain cables produced by a company. '

10.3- 08113 TTT3°11.7 | 18122 | 123127
10.7 -
217 14 6 1
| ]

Determine the median and mode of the data.
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